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Lesson 8-1: Perimeter

Vocabulary

permeter: _1he Sum_Of the RNAthe of +he Side

0f a_polydon

Equilateral Polygon Perimeter Formula: P=n-S ; wheye P: PQY’IMH@F
n=4 of Gides, & s =side \engi'h. ’

Practice

1. Kite WXYZ with ends X and Z has side lengths as shown. Find its perimeter.

D+5+T+7 = 10+1H4

= @ OIS

2. A rectangular park is 500 feet long and 220 feet wide. What is the perimeter of

the park?

500 200 +200 + 220+ 220
1 fzzo = 000 + 440
=440 £

3. Most rectangular flags are about 1.6 times as long as they are wide. If you have

10 meters of border material to strengthen the edges of the flag, about how large

of a flag can you make? 7.\ X . 0]

Ilox A+ Llx+ X +)x = 10

X 22X =10 .
4, A flower garden is shaped like a kite and requires 50 feet of edging to surround it.

If one side is 4 times as long as the other, what are the dimensions?

3.\

Y2 X+ X+ Hx+4x = B0 EH&ZOFQ
T Ux _\_(_?bﬁ,:_@%jxt‘-;z()

A=5



5. Find the perimeter of the given figure.

(0.42) 2, (26,42) 2420t +28+22 154

19

6. Find the perimeter of a regular hexagon with side length 4.

=01 =[Zhund

7. Find the perimeter of a regular decagon with side length A.

10
P=10-h =[10h vnits)
8. Find the perimeter of a regular nonagon with side length 7t
Q

P=9-7Tt =] b3t uma



Lesson 8-2: Area

Vocabulary

Area: _the  amount 0\? SPO(’P inSide a 2D
figure  (measored ingquare vnits —in® or £+2.)
Area Postulate:
a) Uniqueness Property: _€VEYY H’({\} ion has o
DﬂiG\JJQ QayLn
b) Congruence Propery: _CoNQruent fiqureS have
tar Shpe Qe
c) Additive Property: 1112 QY€ QA of 2 non-overlappim
Ve%iong 15 the com pf theiv aveas. X

Formulas
Type Figure Formula Variable Meanings
Rectangle
_ L= Lenghin
A= w |
| W= Widihn
©
2
< [ Square
2 -~
A=2¢ 5= gide engih




Practice

1. The floor plan of a ranch house is shown. '
C=(8,43) D=(22,43)
o
a. Find the dimensions of rooms |, l, and Il1. “
A=(0,28) ! |
RoomI: |5 « ‘L-\ = ZIOuni’raz - =(45.28)

Room II: {3 < 45 = 7|0 ynits “
Room Ill: 3010 = 300 units ~

\ 4

b. Find the floor area of the house. . BT 130,0)
Z10 +§10 +3% 00
[= 1,320 vnits®|

2. Find the area of the region at the right. Y4 (18,57) 1 (27, 87)
2
t VX = N
I+ 1518 N 270 7.3
. . = 51, 36
T bl ;5(,4 ©, 27) (18, 27)1[(L ) ’
T: 3217 = 594 5 “'g 1(82)-18) (27.18) 25 [(51, 18)
4 ©, 12)4 1€ Lit27.12)
VAR 0\ 7\ = 129 (18,12) (21, 12)
' > (0.0 -
| 029 units
3. A carpet dealer advertises a particular carpet for $18.95 a square yard. How

much will it cost to carpet a rectangular room 9 ft wide by 12 ft long?
(*Notice: 3 ft=1 yd, 9 squared feet = 1 square yard)

q e 902 = o] Iye” __Iz\,dz-s\%.oﬁ
l:l AR =“Zz7.ﬂ4<ﬂ

4, A playground is 50 yards by 100 yards. If a roll of sod that is 72 inches long and
18 inches wide costs $1.59, about how much will it cost to sod the field?

iy 20F 150300 = Y45, 000 #+ ©

i .
lﬁogﬁl@ - - = H000 picces of socl

{7 15 = 942 1,59




Lesson 8-4: Area of Triangles

Formulas

Type Figure

Formula

Variable Meanings

Triangle

height

base

Area

height

base base
axrensman

height

base

b= base

h = hmghi—

Practice

1. Find the area of the triangle.
.2
"‘2’_’ b = “5 in E

2. A right triangle has legs 2.1 meters
and 3.9 meters. What is its area?

39 A=%-3.9- 2.
2.1 =14.095 m”*
4. Find the area of the given triangle.
=L .|D-
A=l 10 b

‘-“-i 50Uni’rs2l

3.

Find the length of a side of
a triangle with area 25 and

EER 10 p— 1),

hdg
25=% b+ o

A 4



Lesson 8-5: Area of Trapezoids

Formulas
Type Figure Formula Variable Meanings
Trapezoid b, | h: hei%YH—
::h A'—T'—}:hl(b W \o?_) b, = One base
L = v bas
[ bz__ b?. O‘H’\U( C
3}
< Parallelogram
= b= base
A=b-h h=hci6h+

Practice

1. How do you find the formula for the area of a trapezoid from the formula for the
area of a triangle? , . .
b ,g A traptzoid 1S d\)%’r 2 NS, so

Lbh F b= L h(b by )

2. Find the area of trapezoid ABCD. A5 B

A= 8 (R +13) Bi' E
=4- 1%

3. Find the area of the paralielogram. 15
A=19-% LY gn
- Z




4,

An isosceles trapezoid has an area of 240 and a height of 8. Give two possible
combinations of lengths for the bases of the trapezoid.

. =1 tba -

Ve N 2‘:‘“’ wba) . (O = b+

] i‘j\%;—i\gi‘:\? 70 & B0 or
TNy 0 & 50

Parallelogram WXYZ has vertices W(-5, 7), X(5, 7), Y(8, 2), and Z(-2, 2). What is
the area of the parallelogram?

AN - 105
(50wt




Lesson 8-6: Pythagorean Theorem

Vocabulary

Pythagorean Theorem: OZ +b1 = C?- 5 NWYQ QA &
b are LEGS & ¢ s +hw HYPOTENUSE!

Example a NVPD&T\U%Q ¥ |aqg ove next 4o ‘100&“%u
L X h\,?o-\—ex\\)g& 1S )ane‘d—%io\

b

Ny i g
.S

legs, , :
Pythagorean Co?werseTheorem: | £ ) TY\OMOJU hos  Qides QJDI

& C.and a*+b*=C* thanits a right tyiangle.

Pythagorean Tripte: 0S¢+ ot 5 nombexs Th(l"" FﬂﬂJ
be the lepaths of @ Ciaht vaamdu

Proof of the Pythagorean Theorem: b

L.a.
Larb

Prove: a°+b*=c*
(m)= Llf(\—\‘-’abyr ¢
N2 A

a*+2ab +b> = Zob + C*
-20b -20b b

e = o

J

=
+
o
~/




Practice

1.

You picked up a ground ball at first base, and you see the other team’s player
running towards third base. How far do you have to throw the ball to get it from
first base to third base to throw out the runner?

az + bz — CQ..
A0 £A0 =¢* L |c127.3 0]
0,200 =[c*

You are locked out of your house and the only open window is on the second
floor, 25 feet above the ground. You need to borrow a ladder from one of your
neighbors. There’s a bush along the edge of the house, so you'll have to place
the ladder 10 feet from the house. What length of ladder do you need to reach
the window?

0"+ b* =¢”
\252 t \Ozj‘ = C:-’—

T2

Are the rllzl—mbers 1a1’ 28, and@ Pythagorean Triple?
O > t+ bl = C 2
Hl + 20?—- - 2-52 NO, Q\W 51[ #‘_ 5101.

it
g

52| # 529

Find the length of the missing side on the right triangle, then find the area.
2 2 2
0" + b =¢
2 2 2
37+ b= 118"

2. 09 + Lz = 139, 24
-12 . (v q -13. WG

v fjlz%e

b ~ L 2"

n




Lesson 8-7: Arc Length & Circumference

Vocabulary
Type Figure Formula Variable Meanings
Circumference
r=radius
C=2-v e et
- = diametty
o (or (=7W-d)
Q
g Arc Length
S Acc _ B g 0= deqrees
Lenath (= civeumttrend
3" 560 2:10r o TA |

“Exact Answers” _ STV \awve ) —Wq n 'H\e ANEWEN
“Rounded Answers”: _( n\)W\ber V\HOU‘\' “Tr" 8/ \’D\)Y\dﬂd

Practice

radivs =11
1. A bike wheel has a diameter of 22 inches. If a rider can get it to go 200
revolutions per minute, how far will the bike travel in that time? Give an exact
answer and a rounded answer.

A (= 27 }\
w AN in oy 900 =11%,314" in L min.
revolution

2. In @0, OB = 1.3cm and m.AOB=80. Find the length of AB.

b Ave (2 \ =
% ) nls) j
= 2 . ? \ LD(Z = . % 2_ Cr
3. An ant is crawling along the crust of a large piece of 16” diameter pizza. The
piece has a central angle of 45°. How much farther does that ant crawl than

another ant who is on a medi plece of 12" diameter pizza, with central angle
5° ?

. wo 2:-§ :’b,”Z%
e T
Do




Lesson 8-8: The Area of a Circle

Formulas
Type Figure Formuia Variable Meanings
Circle
A::—lTrz r=yadivs
Sector of Circle A
7 = qeqvees
5 % Secror, O b= deg
<L AY{Q 3(.00 A= aY{O\)‘W'TZ
Bullseye Probability
aveo. oF bullseye Vee e
avea of hlfﬂe‘\"
Practice
radivs = 11
Flnd the area of a sewer cover W|th diameter 22”.
A=
(220,15 00"

2. In Olymplc archery, the target’s bullseye has a radius of 4 cm and the radius of
the outside of the target is 80 cm. What is the probably that an arrow shot hitting
the target randomly hits the bullseye?

Lo 025 ovr . 25'//:\
%0 ﬁ/ g 0%
3. In @0, the radius is 15. Find the area of a sector with central angle 30°.
Ad
Secrov 30 2 -
P R (LM b 0§%  Tou. Y0

F_:;‘i%.ol \)ni’rsﬂ



Lesson: Area of a Regular Polygon & Composite Figures

Vocabulary

Regular Polygon: _Q) {}IQ"UYfJ \N’ all gides fOIUUal in

lengtn & ol angus equad.

Composite Figure: _Q4 HCE‘UN COW\P%@C‘ af  other
%(}S\)NQ-

Practice

1.

Find the area of the given figure.

Lokh
L7513 = 475

L

i 5%‘5m1i

Find the area of the given figure.

2.

4.

Find the area of the given figure.

_33—

ya tb> =2 'zb\ﬂ
Zry 2 = 4* 1245

-32 2

@%ﬁ =32.97%

“ Find the area of the given figure.

b= 2.5
& 5915

T1- 1
7eom| _ (12 ¢
/; 3.5
16cm .
A= TTr
=135
= 23.49%
AR ya
+ 19.24 = 19,94

(1212 ™ |




